FR22F9 A X H5

3 = E XHRS &8
22 |9 |1 |RBFHE-RREZRCEAARIHEE Fa ¥10,000
22 |9 |5 |2ESCHHEREMARENX = ¥3,000
22 | 9 [10 |[FRFDOYKRTEXNKRE HHL ¥10,000
22 |9 (12 |RARBEERESREEELLUHI_EGR E ¥7,000
22 | 9 |13 |REBE -CHAARIHE Fa ¥10,000
22 |9 |18 |HERBESESSBHE = ¥5,000
22| 9 |17 |BELBRAEZEHIS E-3 -4 ¥20,000
22| 9 | 21 | KEZTHEARR-CHAAKRIHE i ¥10,000
22| 9 | 2 | BURILBEEER-CERAHRIHE i ¥10,000
22 | 9 |25 |[REESDIESE HBHL ¥20,000
9IRS HE 104 ¥105,000

(ZHE5 8] X5 & i3]
E-3 -1 4| ¥35000
/L 2 ¥30,000
Fa 4 ¥40,000
ek - £ TEHR ¥0
IAREE 104  ¥105,000




